X100 (R RE= [ & P+ B & FE + MUE i) )

(1) BEEGEMBILE (%)

[ E A+ AEAR S
(2) BTEAMEERLE (%) = X100
BEEARGE
HOEARS+ RS
(3) BOBEARMEREE (%) = X100
AEEARGE
[i5] & ¥
(4) BEEESRHERLE (%) = X100
EARL A+ RIS A+ HE A
(5) EELE (%) = X100
HOEARL+F 44
TRENE P
(6) WEHktE (%) = — X100
ot k=Y
HeHE+ RIS
(7) YR (%) = —————————— X100
it B A
Bl 414
(8) B&kE (%) = —X100
T Eh £ (&
FEN A
(9) MPISRHRE LR (%) = X100
RIS
(10) MEIEEHE (%) = ————X100
e i

NS — 2R TR
(11) EFEIRERIEEE AR (%) = X100
BELH S LHEEH

B TEEEE
(12) M e R esdMEA & R (%) ————— X100
AR PRl At 1 AN Y

A SEAE T i
(13) EXEETEERESEERALER (%) ——————— X100
BREIA
TR
(14) EFEEFEEERALER (%) = ————X100
[EEALIN
M TCRIEE S
(16) fEfECRIEER GBI &I LR (%) = ————— X100
BRI A
Wk St -2
(16) WEEHGHE B ALLR (%) = ——— X100
BREIA
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BRI — S TN
(17) BRE 1 A7 0 BN EE =

RS I E AT ik Bk
4 A B Rl Al £
(18) JWAHEHILLE (%) = X100
A TR [ 8 P + ST [ 7 PE — Lt — R AR A + 2 A B AT 0
R
(19) RFEHELELE (%) = X100

B HEINAE — ZFE T HINAR

BHKES
(20) BRXEELE (%) = X100
RN S — SRR TN
VAL — (FENE FE — T 4F R
(21) FREEBLE (%) = X100
RN S — SRR TN

IS 285 B9 N AT A BN 6 5 g A4

.+

(22) #AZE (%) X100

IR A A ST AR

1 A PRk &
(23) AR (%)

—————— X100
INEEGFNILYIS S

1 A PRk &

(24) fEsxFIHE (%) = X100
1 HALKEE
AR R AT IOK &
(25) AR (%) = — X100
AR IR K
AR ALK B
(26) ECAREEADR (1n472Ynm) = ——m89
ALK AT R
AR RO K B
(27) BEEEERZE (1 TAY%Y7ZY ) = ——————
HIGE EE e
FR7KIL S
(28) HtAREMH (1 mM¥%7=vH) = ————
AR IR &

PEHEH — (AL THFE B M OV dn 52 ARl + B S 36 2)

(29) #AARMEAL (1 w4729 )

AF A UK B
T EN 2 + AR E + 2K E R OB AT Y %
(30) BEAE=
(HLAH) AF A UK B
PG VISR =
5 (B T 4+ M T AR B 4 52 K B vh O B A A 4 %8
B =
(EEA) AR R A UK
1 HEKEK R
(31) WARBM@HE (%) = —— X100
1 HAELAKRE
BIFERAZK N O
(32) BB 1 AN%7=vikAn (N) =
RS I E AT ik B 4k
AF A UK &
(33) BB 1 A4 0 #aKE (nf) =
AR IV EY = E
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Wk St -
(34) FARDIEICH T DHEHR G HOEE () = ——X100

LERNIE
Tk B G 52
(35) HEEMIHT 2MEHKFHOEE () = ——X100
CES 4
I 7 PE AR
(36) HaAKFH 1 7 Y720 EEE ERFH=
FaKF %K

Wik B %
(37) AakE 1 HnicBT 5 1 BY AR (N) =

FERRENAKES-365+-10000

ERIPNITIE R
(38) WHFHE (%) = —— X100
FEIEIR R
(39) 1 A FHHEELK ERIPNTIE R
A= &@——
NG AER
ERNTAS I e
k= & ——
Shsleis iR H
FEAESN SR BFE S
(40) SRABRBREFHLE (%) = ———— X100
ERIPNTISE R
(41) BE 1 A1 BY7-0 BEK
LS IYNTIGE
A= & ——
AEAERL B4R
FERESN SR B AR
k= —m
FEAERL B4R
NS
(42) BEF 1 A1 AN 0 2RI =
LS IYN YIS e
INTAIER
Apt= & &@—
ERIPNTISE R
PP e
k= & —
ERITAS I e
NPT e
(43) B 1 A1 BY% =0 2ENA= —m——
RN B 5K
P Y
(44) BFE 1AL AN G E=
ERTYNZIS I e
BRI 2
Bed=
ERTYNIZIS I e
SRR
=
ERTYNIZIS I e
BB EM R
(45) ABERE 1 A1 B4 7= Bt —m——————
GRTYNTI R
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N (338 57)

(46) BEIIESREABE (%) = X100
56 PR SR A R
AR (FEF)
(47) FEFIERERZE (%) = X100
TSR R SRS A U
[ e ST TN
(48) BEAIZKT2EE (%)  HFEEHRA= —— X100
NG JIEN
RAILA
MRAIA = — X100
NS E
TR
WS A= — X100
NS

(49) EZENIEITH T DERMEIE ., BEHKSEOEE (%)

[ R
EREMEI = — X100
[EE SIS
B 52
EHRGEHE= —X100
[EE SIS
(50) HRATIRIL
AR [ A
BE1 00 ANYS7-0 AEtk= X100
LS IYN IS I GE R
AF BRI 4R
BHE 100 NY72 0 Stk = X100
LHSTYNTH S I Er
AR [ A
RATHAN 1 N7 0 s —————
AF R IR H ik
ITEANTPN
A1 A Y720 RERA= & &—0———
AF R IR H ik
AR R
R BRER R 1 N2 72 0 i s ————
A IR O R Al 2
TR RIS N
TR EL AR 1 Y 72 0 R = ————
A IR O R Al B
(51) =El==%H
SORFEFAIA
ABRIR S I %3 5 B EFIRAOE = ————
INTAIE
SORMEFAINA
IS I3 5 BEZEFRAOE G = ————
TRV 2
EER (%) BEHK
(52) JRIR100MRY 7= 0 kB ¥k = X100
AR ETRIR IR L

KHRIZOWTITER 2 04£3 H3 1 HEED LD TH Y . EHBICTHOWTITER 1 9EEDEETH 5,
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